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! 3000 (tridiagonal) 0000000000 OOOCOOODOOOOOOOOODODOOODO
subroutine tridiag_init (a, b, c, m)
implicit none

integer(4) :: m, i 'm OO0O0O0OOO
real(8), dimension(1:m) :: a, b, c ' goooao
doi=1, m
if (i == 1) then
b(i) = 1.0d0 / b(di)
else
b(i) = 1.0d0 / (b(i) - a(i)*c(i-1))
a(i) = b(i) * a(i)
end if
c(i) = b(i) * c(i)
end do
return

end subroutine tridiag_init
' J0dooooooo
subroutine tridiag (r, a, b, c, m)
implicit none
integer(4) :: m, i
real(8), dimension(1l:m) ::
! forward elimination
r(1) = b(1) * r(1)
doi=2,m
r(i) = b(i) * r(i) - a(i) * r(i-1)
end do
! backward substitution
doi=m-1, 1, -1
r(i) = r(i) - c(i) * r(i+1)
end do
return
end subroutine tridiag

r, a, b, c 'y O0O0OOOOOOODO (coooo)

ub 00000000000, 000000000000 zz000000000000000A0O
000000 AODUOQOOUOCOO0O0OO0,0000000000000000 (tridiag_init) O 1
O00000,00000000000 (tridiag) 00000000 OOOOOOO

e« 00D0DDODOODODOODOONOO,
w™ D = ™ L IAA(w Y ™), 0000 (I-1AA4)w™) = (I+1A,4)w™, (25)
000000 I+iA,A00003000000000,00
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1000000000000 0000O0Oo0o0oooooooooO (oo 1),
0000000000000 00000U0o0o0ooUoO (oo 2),

gboz2000000000

e [1[J

10000000 (DoOoo):

integer(4), parameter :: n = 10 ' J00000 n+1
integer(4) :: i, it it 00000o0oooooo
real(8) :: t 't 000

real(8), dimension(0:n) :: w ' Jo0o0ooooooooa
real(8), parameter :: h = 1.0d0/n 'ooooo

it =0 'oooobooooooo

t = 0.0d0 rogooooo

do

! 100 00O0DO0ODODODODODOODOOOOOO00
if ( mod(it, 100) == 0 ) then

write(x, "(’# t = 7, el4.6)") t | 000000000000 (o0 #0000
doi=0,n ! Gnuplot JODODOO)
write(*, "(2e16.8)") i*h, w(i) ' 00000000 x0o0, ooooa)
end do
write(*, *) ' J00000000O00ooog
end if
! JO0O00oO0ooooodg
it = it + 1
t =t + dt
end do

e JI00DODOUIODOODOODODOOOODODOUDD Gnuplet OOODOODOODOOOOO

e [1[J

Gnuplot 0000000000000 OOOO0OOOOO,000200000 (DOQODOOO
000000 200)000000000000OO

Ubooo0boobd temp.dat DOOD0OOODOOO, 000

gnuplot> plot ’temp.dat’ with lines

goog,bogboobooboobobboboobooboobooboboobooboo
kO0OOO0oOOooOoOoooOoOoOooooooobooooobooooo

gnuplot> k = 5
gnuplot> plot ’temp.dat’ every :::k::k with lines

0o0o0o00dooon,witeOO0oOooooooooog
write(*, "(3e16.8)") t, ixh, w(i)

gooo,0d,00, 000000000000, 000003 0000O0b000O0OOO
gnuplot> splot ’temp.dat’ with lines

20000000000 DO0ODOODOODLOODOOODOOODbODbOODbOObOOObO0On

integer(4), parameter :: n = 10 ! OO000O0O0 n+t

integer(4) :: i, it, ifile ' it 0000000000, ifile OOOOO0O00OO
real(8), dimension(0:n) :: w ' J0000oooooooo

character(16) :: c ' oooOoO0O0O0O0OO0bObOOb00b00o

character(8), parameter :: fn = ’temp’ ! J00o0o00oooooosoooooooooo
real(8), parameter :: h = 1.0d0/n ' oooog

ifile = 0

it =0

do

' 100 000000000 O0OO0OO0OOOOOO0O0O0OO0

if ( mod(it, 100) == 0 ) then
! 00 c00000000DOODOODODOOD tempo000.dat DODOODOODOODOODOOOO
! 000000 adjustl(000) OOOCOCOOOOOOOOOOOOOOO
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! 00000 +trim(00D0) ODOODODODOOOO
write(c, "(a, i4.4, ’.dat’)") trim(adjustl(fn)), ifile

open(10, file=trim(c)) ' JO0oo0ooooo
doi=0,n
write(10, "(2e14.6)") dble(i)*h, w(i) ' 00000000 x0O0O, OOOO0O)

end do
close(10) ' Jodoooooo
ifile = ifile + 1 ' J00o0ooooooooa

end if

it = it + 1

end do
OO0 temp0000.dat, temp0001.dat, ---, 000000000 0O0OOOOOOOOODOO0ODOOO

oo0,0000000 GgIFDOOOCOOODOOOOO

#! /bin/sh
name=temp
i=0
while [ ${i} -1t 50 ]
do
num=$ (echo ${i} | awk ’{printf("%04d", $1)}’)
gnuplot <<EOF
set terminal gif
set output ’${name}${num}.gif’
plot ’${name}${num}.dat’ with lines
set output
EOF
i=§((++1))

done
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